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QUESTION 1

What is a characteristic of VMAX 40K Power Vault Hypers (PVDs)? 

A. PVDs are 9 GB in size. 

B. There are two PVDs per physical disk drive. 

C. Space is allocated for PVDs in Global Memory. 

D. PVDs are 5 GB in size. 

Correct Answer: A 

 

QUESTION 2

You\\'re a sales representative and trying to position VMAX for a customer environment. 

The customer requirements are: 

Maximum Performance 

Large Scale Consolidation 

Supports IBM System z and i 

Up to 3,200 disks 

Which family of VMAX would support these requirements? 

A. VMAX 40K 

B. VMAX 10K (959) 

C. VMAX 20K 

D. VMAX 10K (987) 

Correct Answer: A 

 

QUESTION 3

Which Enginuity supports IBM iSeries emulation D910? 

A. Enginuity 5876 

B. Enginuity 5874 

C. Enginuity 5875 

D. Enginuity 5773 
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Correct Answer: A 

 

QUESTION 4

A customer using a VMAX 20K containing 2 high density storage bays, each containing 250 drives wants to expand
their capacity with 100 drives. 

What is the least expensive way to expand the existing configuration, but still a good choice for optimal performance in
this configuration? 

A. Add two DAEs to each storage bay, each containing 25 drives 

B. Add four DAEs to the first storage bay, each containing 25 drives 

C. Add two storage bays, one to each loop and each bay containing 2 DAEs with 25 drives each 

D. Add one storage bay containing four DAEs with 25 drives each to the first loop 

Correct Answer: A 

 

QUESTION 5

You are reviewing a VMAX configuration and find 4 Diskless devices. Which type of Symmetrix VMAX feature is
configured? 

A. Cascaded 

B. Auto-Provsioning 

C. Virtual-Provisioning 

D. SNAP 

Correct Answer: A 
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